PIK: 1981,94
Skala 1:100/100

Bl v TN = 1,10m2
Bl v PROU= 0,11m2
] NasYP = 147m2
[ wykop = 0,08m2

P.P. = 103,00

RZEDNE
PROJEKTOWANE

-107,74
108,11
108,11
-107,77

RZEDNE
KONSTRUKCY

-107,90 [-108,05
107,73
-107,78 |-108,16
107,73
107,96
-107,90 [-108,05

RZEDNE TERENU

107,767-107,96

ODLEGLOSCI

—6,39 1 107,70
—-0,52 1 107,80
0,00 A

162 107,757
7,79 107,807

-3,97 7
-3,50
—2,62 4
-2,50

2,50
3,50 A
3,93

PIK: 2020,39
Skala 1:100/100

Bl o 1STN= 0,74m2
Bl v PROU= 0,11m2
] nasYp = 0,90m2
B wykop = 0,86m2

P.P. =100,00

RZEDNE
PROJEKTOWANE

-107,59
107,91
107,91
107,62

RZEDNE
KONSTRUKCY

-107,70 |7107,85
-107,58 |-107,96
-107,70 107,85

107,53
4-107,53
107,76

RZEDNE TERENU

107,74 107,76

107,61

ODLEGLOSCI

0,19 107,77
5,84 107,63

—22,367 105,20

-3,89
-3,50
-2,74
-2,50
0,00 A
2,50 4
2,52

3,50
3,85 A




